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R 2 A 5 0.16 5 0.16
EEN K 0.34 K 0.34
REEEINCEEDD 0 0.01 0 0.01
B AR 22 5 AL 0 0.00 0 0.01
ERE 17 0.51 17 0.52
JIEHIE 2 0 0.00 0 0.00
SEE. a2 3 0.08 2 0.07
TAEHSS S
U~ as 6 0.18 5 0.17
SRl 9 0.26 8 0.23
EERET K 0.33 K 0.33
T2 A 2 0.16 4 0.16
EEN 0 0.01 0 0.01
REEEINCEEN) 0 0.01 0 0.01
N EEN 0 0.00 0 0.01
BT 2 0.18 5 0.18
JIEHIE 2 0 0.00 0 0.00
R ] 1 0.08 2 0.07
INENGR S
A~ aas 2 0.18 4 0.17
Rl 3 0.26 6 0.24
=A A 4 0.34 8 0.32
TN 0 0.16 0 0.16
EEN 0 0.30 0 0.30
EEEINCEEDD 0 0.01 0 0.01
SIS A2 el BIAL 0 0.00 0 0.00
R 0 0.47 0 0.48
JIEHIE 2 0 0.00 0 0.00
SENE, SHASE 0 0.09 0 0.07
IANENLS S
b i 0 0.19 0 0.17
SRl 0 0.28 0 0.24
EERER 0 0.36 0 0.34
T2 A 4 0.16 4 0.16
EEN 5 0.22 6 0.23
SRR CEE)) 0 0.0 0 0.01
B A2 22 5] AF 0 0.00 0 0.0
EEE 9 0.40 10 0.40
JIEHIE 2 0 0.00 0 0.00
CENE. ShaE 2 0.08 2 0.07
IANEEGSR S
AU~ no 4 0.17 4 0.16
R 5 0.25 6 0.23
EEER 7 0.33 8 0.33
RIS EAF i 0.16 i 0.16
EEN 2 0.25 2 0.25
FEEEINCEEDD 0 0.01 0 0.01
N EEN 0 0.00 0 0.01
T 3 0.42 3 0.43
JIEHIE 2 0 0.00 0 0.00
R ] i 0.08 0 0.07
ENESES S
A~ Ao 1 0.18 1 0.17
R 2 0.26 i 0.23
EERER 2 0.33 2 0.33
TH 2 B A 4 0.16 3 0.16
ENE 2 0.09 2 0.09
FEEEINCEEDD 0 0.01 0 0.01
SUB AL 2ol 5 Al 0 0.00 0 0.01
T 6 0.26 5 0.26
JIEHIE 2 0 0.00 0 0.00
CEE, A E 2 0.08 1 0.07
TAEHER S
AU i 4 0.17 3 0.16
SRl 6 0.25 5 0.23
EERER 7 0.32 6 0.32




X AHS 2 AL 5 0.16 6 0.16

THOH 3] A 3 0.11 4 0.11

A S| AHALEF R}) 0 0.01 0 0.01

QU BAI2 22| 3] At 0 0.00 0 0.01

245 8 0.29 11 0.29

JIEtHI & *? 0 0.00 0 0.00

000K, S22 2 0.08 2 0.07
TAEAAR =

P 5 0.17 6 0.16

B 7 0.25 8 0.23

=2 AN Al 10 0.32 12 0.32

KHAH2 2 AL 3 0.16 3 0.16

ENER 3 0.21 4 0.21

R TNETEPO) 0 0.01 0 0.01

QU BFAFR 22] 3] At 0 0.00 0 0.01

245 6 0.38 8 0.39

AHFANC-P1 J|EHH| 2 *? 0 0.00 0 0.00

=000, S22 1 0.08 1 0.07
ANEAAR S

P 3 0.18 3 0.16

B 4 0.25 5 0.23

=2 HANAl 5 0.33 6 0.32

A2 2 AL 5 0.16 6 0.16

ENEN 5 0.15 5 0.15

A 2HS] AHALEFA X}) 0 0.01 0 0.01

QU BFAIR 2H2] 3] At 0 0.00 0 0.01

245 10 0.32 11 0.33

J|EtH| & *? 0 0.00 0 0.00

CH=OHO0H, S5 2 3 0.08 2 0.07
TN S

MUl & g 6 0.18 6 0.17

B 8 0.25 8 0.23

=2 NAl 11 0.33 11 0.33

KHAH2 2 AL 1 0.16 1 0.16

IO 3] AF 0 0.06 0 0.06

HE S| AF(AIEFQ R} 0 0.01 0 0.01

QUBAI2 22| B At 0 0.00 0 0.01

245 1 0.24 1 0.24

J|EHH| 2 *? 0 0.00 0 0.00

SH=0H0H, EWE42 0 0.08 0 0.07
ZAEAR £

P 1 0.18 1 0.16

Sl 1 0.25 1 0.23

=2 HeHAl 2 0.33 2 0.33

A2 2 AL 2 0.16 1 0.16

THOK 3] A 0 0.00 0 0.00

AP 2HS] AHALEFA R}) 0 0.01 0 0.01

QU BFAI2 22] 3] At 0 0.00 0 0.01

245 3 0.17 1 0.18

JIEtH| 8 *? 0 0.00 0 0.00

=000, S22 1 0.08 0 0.06
AN2AAD S

MUl A ~rg 3 0.18 1 0.16

Bl 4 0.26 2 0.22

=2 N Al 5 0.33 2 0.31

K22 Al 1 0.16 1 0.16

ENER 1 0.10 1 0.11

A 2HS] AHALEFA R}) 0 0.01 0 0.01

QU BFALR 22| 3] Ab 0 0.00 0 0.01

245 2 0.28 2 0.28

JIEtH| 8 2 0 0.00 0 0.00

CH=0H0H, S22 0 0.08 0 0.07
ANEAAR S

MUl A g 1 0.18 1 0.16

B 1 0.25 1 0.23

=2 Al 2 0.33 2 0.32




NNEEIN 0 0.16 1 0.16
ENEN 0 0.07 0 0.08
EERNEEEINRNEERD) 0 0.01 0 0.01
QU HHAL 2 22| B AL 0 0.00 0 0.01
S5 1 0.25 1 0.25
HRUEZHFA)C-Pe2 JIEtHI & *? 0 0.00 0 0.00
CH=0HOH, EHS2 0 0.08 0 0.07
Eﬂgﬂ EANERBE S 0 0.18 1 0.16
e MHIA 42 : :
T B | 1 0.25 1 0.23
=2 HeHAl 1 0.33 2 0.32
* HEO| &=XIAFEM(D|2HE A (Y| HI22 LIEFHLICEH
xx J|EIHIZ0/2 SIH2AAMEIE, S2 SO (e L ZHHIE S HEWA ZAN BIE2NHO2 XEE HEO2H -S4 2= A
Q834 LICtH
M ADE A e els
E-TE=C == Lo B T = =
b SE =, H|SHI= (St HSHAF %)
2 | S22 -HIZHEA) '] H-EMLL2HIE(B) *? &I (A+B)
o e THEA(2R) X 0| 0.0073 1.3029 1.3102
et RS EPl 0.0059 1.1683 1.1742
2401 £ TH (= AAT x| 1.6095 1.2907 2.9002
e T EPl 1.6079 1.1578 2.7657
20l TH(=ANC x| 2.2077 1.3869 3.5946
e T EPl 2.2073 1.2431 3.4504
201 £ TH(ZACD x| 2.0595 1.1134 3.1729
e T EPl 2.0576 1.0396 3.0972
_ x| 1.8975 1.1615 3.059
IHOl E X Al
HEEHFH)CS EPl 1.8984 1.0474 2.9458
_ x| 1.7067 1.4798 3.1865
IHOl E X Al
HEEUHFH)CA EPl 1.7075 1.4333 3.1408
i x| 0.7394 1.2717 2.0111
THOl E Al _
HEEHFHICF EPl 0.737 1.0866 1.8236
_ x| 1.6082 1.2691 2.8773
IHOl E X Al
HEEUHFA)Ce )| 1.6071 1.1339 2.741
20l € TH(ZAI)S &0 1.0595 1.3294 2.3889
e T )| 1.0582 1.2125 2.2707
_ x| 1.1586 1.2906 2.4492
XHOl &£ X Al
HEEHEFH)Ae )| 1.1573 1.1458 2.3031
_ x| 1.5479 1.3181 2.866
XHOl &£ X Al —
HEEHFH)CP )| 1.547 1.1771 2.7241
_ x| 1.3095 1.339 2.6485
XHOl &£ X Al —
MEEUHFH)C-P2 EPl 1.3083 1.2111 2.5194
201 € T}H(ZAl)S—P &0 0.9584 1.3718 2.3302
e anT )| 0.9576 1.2518 2.2094
_ x| 0.712 1.1244 1.8364
XHO|l &£ X Al —
HEEHFHIC-W EPl 0.7105 1.0717 1.7822
_ x| 1.1295 1.1936 2.3231
XHO|l &£ X Al —
HEEHFH)C-Pel )| 1.1275 1.0834 2.2109
_ x| 1.0074 1.2165 2.2239
XHO|l &£ X Al —
HEEUHFH)C-Pe2 )| 1.0058 1.0454 2.0512
1) £94-H|2H| 2 (Total Expense Ratio)0| 2t %gz¢ S HEWA 26t "' 'J|EHHIE EUS XA HTEH (P2
2 UL JIE)CZ L= HIBZM Y 28JI12t £ EXNXIL L8 & E4-HI 2422 UEHHLICH
Z=2) DHOH-EH242 HISOI2 HOH- BB E =l FEIM(B2 HIE IH2AH JIFE)CZ Lis HISZM 1Y 28It E &
KXOF S8 OHOH-SH280 £FS LIEFLICH
6. S XHAHAHDH OH LH &
> HOHFARD L SIS (E491: BH!, %)
HASETHFA(RSR)
TES e MMEEEER
ENET: = o PN = A oo 2t o gk At
2, 666 960 80,107 2,537,455 72,142 111.38 441.90
ESNTIERENE 6Ho+ 28J(2F = IS 6 FAJIMHO| ZH2 7] glilY 28|12 S BRE TAIO HRAIIMOZ2 L= HISLICH
OHOHEI M E0] =2F R H0HHH2=22(0.1% W) L ZSEAHNMOIE Al 0.3%) LMO2 AN EXXIF SEEH = HEH =0

SItELICH




J.L-II:(_)_|

HOd

(&2l %)
5

111.38
Tl L=

2018-07-20 ~ 2018-10-19
I OFOICHAOI AN A2 E 01 & A
02-3787-3500

a4

o]

http://www.midasasset.com/

114.87
http://dis.kofia.or.kr

2018-04-20 ~ 2018-07-19

OFOICHA O AU XH A2 E(F)

151.24

b

2 32| =4 o3& = 0l
2018-01-20 ~ 2018-04-19
KIALE

> =

o}
18D

Wk
00
no



